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STATISTICS

Paper : STA0100104
( Descriptive Statistics and Probability-I)
Full Marks : 45
~ Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
©o ePTyRs Ues Tl 3

(a) Which of the following is used as a
summary measure for a sample ?

woe e (PNl afonsfs ey sfRuel
fepicsl aaRie 91 =
(i) = Population parameter

A be

(i) Sample statistic

eforfs efomfe
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(i) Population mean (c) Which of the foﬂowing‘options is the

AP &G true example of primary data?
(iv) None of the above oSG (FICO! ﬁ@' ERIBCRIA! m
8H<9 bi8 78 gy
(i) Journal / e offam
(b) A quantitative scale where there is a (i) Book /&%
true zero and equal interval between (iii) Census /Tai?lﬁ

neighbouring points is termed as

@b #ARSAS NoRF, TS A1 7o) CHAE S AT

(iv)] Newspaper / q® 5 T

© Foice whl fereHl Ry Niere T 11g A, (d) Which of the following measures is not
Oie (R =" influenced by extreme values?
. ; | oS GRS (FICHE! e 5 Wi A erelfae
(i) Ordinal scale
DR j :
TS WA
(i) Arithmetic Mean
(i) Nominal scale : S W4
SRR Az (i) Geometric Mean
(i) Interval scale YTe N
TR it ! _ (iii) Median
; ; LR
(iv) Ratio scale :
(iv) None of the above
A WA
89T GBIE R
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{e) Two different dice are rolled together.
What is the probability that the sum of
the numbers on the two dice is 57?

7f5 fom g ofs Fewsl o1 291 | 7% 1O eo[e
Wﬂ:@@é @5iTe 5 (@RE TS 25

(1)

Ol

Bl

(i)

]
) e
(iv) None of the above

Q7T 5ie T2

Answer any five from the following

questlons: . 2x5=10

TWWWWWW

(a) What are the different scales of
measurements of statistical data?.
In which of these measurements
mathematical operations multiplication
and division can be carried out?

R (e BT MR B B @

MARRS [oeTS (AT TS (e o=zt
S T SR AR
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(b)

(c)

(@)

Distinguish between variables and

attributes.

55/ SIS (AMTR WS 2Ny o |

Write four sources of secondary data.

Tt w2 5IfEGT G ol |

Distinguish between bar diagram and

histogram.

SiER O FEbas el Sty Bl

Distinguish between ‘inclusive’ and
‘exclusive’ types of class intervals. How
are ‘class boundaries’ calculated from
‘class limits’? '
SEeE IE AETE () TG AEH S
forall | e IS A= <) sAfem e st
wfaq Al '

Show that the algebraic sum of
deviations of a set of values from their

arithmetic mean is zero.

ryedl @ AR WiNE e o[ PR

M2 RoemeERT @ % |
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(9)

0,

()

Distance
(in kms)

% (km)

Frequency :
IRl

Find the median from the following
frequency distribution :

woTs Al AIEATO! AT ARt Wt e 4 3

o e DReRe R RS
o i 2s BudlDwuiEy 3

Find the standard deviétion of the.ﬁrst
‘n’ natural numbers.

2N 7’ B TYe AR TES [oew Wefm 11|

A tyre manufacturing company kept a

record of the distance covered before a

tyre needed to be replaced. The table
shows the results of 1000 cases :

95l BITR &Fe T4 T AN 95! GIEE Wl
TN TS SfoT T4 7999 9 FER T
Fiff%e | T ARTRAS (ORI 10006! Wo1R
FeAIFe (MYFIR0R ¢

. Less than 5,000 to 10,001 to More
5,000 10,000 15,000  than 15,000
5000 9% 5,000 % 10,001 9 15,000

94 10,000 415000 © & &R
40 190 300 470
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If a tyre- is bought from this company,
what is the probability that

% @51 BRI 98 T IR s e 93, (o

were ASiTerTE e el

(i) it will last more than 10,000km.
(12¢B1 10,000km S B BT |

(i) it has to be replabed between
5,000km and 15,000km.

(13751 5,000km W% 15,000km I
ers i) -9 fE |

() Consider the p.m.f.
Tl ©F FeweH! oo F4 8

X

= — =1,2,3,4‘,5
p(x) .

Find (Fefa <) -

(i) P{X=1 or (V) 2}

(i1 P{—é—<X<-g—/X>1}

1 (Sem-1) STA/G 7 Contd.




Answer any four from the following
questions : 5x4=20

o1 SPTE AT SR Dea i ¢

()

g

(c)

Write a brief note on the scale of
measurements of statistical data.

ARPTRFE ©UR me«ﬁmaﬁ

53 (BA ol |

Write a brief note on merits and
demerits of primary data. '
Ww%@ﬁ@@“ﬁﬂ{ﬁ@?ﬁ“@ﬁﬂm
foralt |

In a study of blood groups of 1000
males and 1000 females in a city, the
following data were obtained :

Qe F5FE 1000 7% WF 1000 JZE (0%
so1g @b SEEE® O WAPTRR. (AR AW ¢

Blood Groups Male Female
(ST 2 %7 BIEG]
A 150 140
B o 200 280
O 450 500
AB 100 80
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Represent the total blood group
distribution with the help of a
Pie diagram.

«afb m%fﬁﬁ@ﬁﬂrﬂqqr@&ﬁaam
sAf{ERd 41 |

(d) Calculate ‘less than’ and ‘more than’
cumulative frequencies against
.appfopriate boundaries from the
following data :

ol HFT IR 211 Tibe #ffaas ReATs ‘Orots
T I OOT THeT AL AT a9
341 3
Weight df iﬁsects i
(in gms.) : 21-30 31-40 41-30 51-60
9G4 GG (8IN)
Number of insects 15 25 40 60
AGL 74|

Weight of insects 61-70  71-80
(in gms.)
G4 & (E)

Number of insects . 20 10
A WA
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) Find median and mode from the

following frequency distribution :
weTs Tl AR AT AN AL A TR
ey 41 ¢
Class Interval ;  0-10 10-20 20-30 30-50 S50-70
o v
Freqliency : D 8 10 14 i
RIS

(i The probability density function of a

continuous random variable X is given

by .
«ft wiffoas Tz vere X3 TSife! Tg T
7'e] '

f(x):{ka(lxs) T @ i)

0 ; elsewhere (Si)

where k is a constant.

T k @b 455 |
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Find the value of k. Using this value of
k, find the mean and variance of X.

1+2+2=5
fo 3 S Fefa 411 @3 R RRR SR TR W
svie Fefm 11

() Give the axiomatic definition of
probability function.

If A and B are any two events, then
show that

FeiFe e e Wl |

ﬂﬁAWBﬁ@W@TW,@I@Cﬁ%@T
* : |

P(4UB)=P(A)+ P(B)- P(ANB)
- 2+3=5

(h) There are two bags A and B. A contains
‘n’ white and 2 black balls and B
contains 2 white and ‘n’ black balls.
One of the bags is selected at random
and two balls are drawn from it. If both
the balls drawn are white, what is the
probability that bag A is selected ?

If this probability is %—, find the value
of n. 3+2=5
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ASE BT (A AS 7 B 20l i 2 FeN
& SI(E O% BS 45! 9l W Bl TN @
g | @4 (W Iz [Ebe wF ©F

Sfat B! TeT A DeFOIE AR 91 2 | FfM geAil
FMEs T N W (0% A Gl WEibe

@Wﬂ@rﬁ'@ﬁmw
| zrﬁﬁwﬁ—f ﬂ,m‘n’amﬁeﬁ
|

4. Answer any one from the following
questions : 10x1=10

oo SHPT[EE Sl el @bre el el ¢

(a) Write a detailed note on tabulation of
data mentioning its types, rules and
precautions for tabulation.

WWWWW@WﬁﬁwW
AT eoTe 4t RwiFe G for

(b) In a study to test the effectivenes'é of a
new variety of manure, experiment was
performed in 50 fields and the following

‘results of yield per hectare (in quintals)
were: obtained :
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Lﬂﬁa@aa@ﬁﬂwmﬂmﬁﬂﬁ
sFre 5099 (@l A6 (2T TR

(3TTeTS) PR R (SR ' ¢

Yield Coonof Loo0s M gkl 85230
Beai
Number of fields 2 3 8 12
(TG TRl
Yield L 40-44 45-49 50-54 55-59
Des
Number of fields 16 B 2 : 2
(R4 TR

Find (fefa 510) :

] the mean

RIS

(i) the variance

AR R

(iii) the 1st quartile
Y25 HPF
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(iv) the 6th decile
T TR
(v) the 75th percentile
759 *TOTS

A, B and C play a game and the
chances of winning it in an attempt

201

are 5,5 and % respectively. A has the

first chance, followed by B and then by
C. The cycle is repeated till one of them
wins the game. Find their respective
chances of winning the game.

A, BSI% C (3 &6l (457 (A 9% afb &psio
(OSERR T (2RIE FSiel AfEEE 2

2,1 o LA o o9 R AR o

foime B (1 O ©IF BIgs C @ | ST (e

o TR A | (OSERE ATORE (U

G (@R g [NefT 4|
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(d) Two dice are rolled. Let X denotes the

random variable which counts the total
number of points on the upturned
faces. Construct a table giving the non-
zero values of the probability mass
function. Also find the distribution
function of X. : '

76 eel Fesd 39 26| @ aqies sae
A @ el 7o SoR® CrElEl FE @iolee
IO | ABIRS] ©F FeTaq X2 AT G2l
AR o159 T | IEFE X [owe we [l
91|
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